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BIOLOGY 10™

OBJECTIVE TYPE
(€--gdez) ono SSL § T a3 12 5 58 515 55 Y lgus (929520 O

How many bronchi are there in the air passageway? sl L fe Lin
None 75 D Many < ez c TWO s B v One (i A
Stomata are frequently present in: iUt LstsRs Fosl s
Lower side of a leaf Upper side of a leaf

Both sides of a leaf
Astem (2 D| wauindz | Ldide B L dogpdz v A

Which gas is absorbed through stomata of plants
during night? ?‘aém,«)eu"f syl Ungeh el

Carbon dioxide
Hydrogen 7.\ D Nitrogen /s #t C Oxygen STV B T8k A
Where does the gaseous exchange occur in humans? ‘-’.ab'nukﬂbl?(u%’// 5%l
Alveoli Jug,b v D Bronchi @6‘5/. Cc Trachea t{f/" B Pharynx J(/i A
Which type of blood vessels present around the
alveoli? Supszr I ALA IS LSk
Veins #; D Arteriole Jy/.7 c Capillary d/%f B Artery $ 1 v/ A
Which structure helps in taking air out of lungs? Selzarae) TS LG o Ussah f i
Diaphragm (115 D Bronchiole Jsfs.. c Bronchus " s, B | Nasalcavity v§£Jz | A
The muscles of rubs are called: :ugLM)"Lw%
Costal muscles J’/ Intercostals muscles Cardiac muscles Smooth muscles £+
+ D F I AV C HF K B + A
Length of a trachea is: ‘LJMJLJ k2
18 cm D 16 cm C 14 cm B 12cm v A
The respiratory centre is present in: e bloll }"d;«’g/
Lungs Jtussats vV D Brain UL C Nose Ut B Muscles J4*+" A
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During expiration in humans, the temperature of

oxygen in the expired air is:

:‘Lbn,é-j(uf:ffuiindbé,n(wlé,{g a.()'ulwﬁu"i[{gufuu'l

25°C D 22°C C 21°C v B 16°C A
The gaseous exchange in mammals or cow is
occured: te b ol ¥usd, S
Alveoli Jug;&t v D Pharynx J{/i C Trachea gf/" B Bronchi étﬁu. A
Larynx is a box which is made of: bt S2e VLI
Muscles #~ D Adipose JzJ4! C Cartilage §5sz v B Bone 4 A
The box which produces sound is called: g Sl d S T
Larynx Jf,{ 4 D Alveoli Juzsi c Bronchi (€. B Trachea £ A
A muscular way which is common for food and air is
called: et e S L Linil Sé 251,08 L
Pharynx ‘/(/3 v D Larynx J(,J C Alveoli Sy B Trachea £ A
Air enters after larynx: e lnfual S Jin
Bronchi &KJ,/. D Trachea yf/” (4 C Esophagus u*?rx! B Pharynx f/f A
The hole present on the surface of pharynx is called: :‘aw/ C'Jr:ﬁr‘a})ﬁf /.?
Trachea l{f/” D Glottis /¥ v/ c Nostrils J -t B Larynx JFA A

The rate of breathing during exercise or other hard

anb;'J&Jbulzuéd‘_/}(Lb:)f@/‘»kUU»LL/J’JJJU-‘.'UJLJ"

physical work is: e
40-50 times per 30-40 times per 20-30 times per
minute minute minute 10-20 times per minute
40-50 e D 30-40 e v/ C 20-30 e B 10-20 w@ A
Percentage of carbon dioxide in expelled air is: :‘gémw‘!zméuwmmw,é 7
0.07 D 0.08 C 0.05 B 0.04 v A
Glottis is the opening of: :9(&»(2(41 ......... oK
Epiglottis ‘f’%u‘gl D Trachea L"{/" C Larynx JQ B Pharynx f/i v A
The glottis is guarded by a flap of tissue called: e b 2e Qb sy fiL H aso S
Epiglottis uﬁ%ugl v D Bronchi $¢».. c Glottis uju? B Trachea gf} A
All the alveoli of one side combine to form: :wah/nﬂéug;ﬁlru"égu._g
Liver £ D Testes C Kidney s/ B Lung % v/ A
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How many pairs of ribs are present in the chest wall

of humans? s Lsszy e iz L Ut dbas Uil
J»16 D ng14 C ol V12 B 210 A
The thick muscular structure that is present below the
lungs is called: e b bl & LUt 2 i ) ey i
Pleural membrane
Abdomen " s.4-f D oAk C Thorax u=.# B | Diaphragm (i v A
A thick muscular layer beneath the lungs is called: e QW7 )y b i b QL8 £ unatt
Kidney ».” D | Diaphragm ¢/l v | C Bladder ..tk B Ureter .y A
Main role to give out air from lungs is: “‘ag}/rwi'i@'/g Ine U et of
Diaphragm (1115 ¢/ D Bronchiole d;fu. C Bronchus qu. B Nasel cavity &« J% A
No. of Bronchi in the air passage way are: ?@Lnéﬁ'u.z""./uﬁauém
None of these ui”d/ D Many < ex C Two » ¢/ B One i A
A disease involving the breakdown of air sacs of the
lungs is called: : Jng_*Ju’?;’lLu,z:‘iut‘ﬁd/Lgu
Emphysema =é% v | D Asthma -.» C Bronchitis Lf"té‘u. B Pneumonia L A
Inflammation of bronchi or bronchioles is called: :c‘-éuf J’JrJﬂ);ﬁ/&Jﬁ';/,
Cough & D | Bronchitis /¥ ¢s ¢/ C Pneumonia ¢+ B Flu s A
Every year world tobacco day is celebrated on: e bl 8 L UL UL
1st May 1 & D| 31stMay31& v |C 25th May 25 ¢ B 15th May 15 § A
Which disease is involved in the breakdown of air
sacks of the lungs? ‘-'u."d“-lgﬁ-«;tf? AUt S oS
Emphysema =4 v | D Asthma ..» Cc Bronchitis Jb’/!ﬁ;/. B Pneumonia ¢+ A
The walls of the alveoli are broken down in the
disease named: e w gt § e oSk g S dugh
Asthma - D Pneumonia i+ C Emphysema L 4 v/ B Bronchitis o~ .. A
Which disease is caused by streptococcus
Pneumoniae? ‘-‘+8Mt5/h~0’ of e paller et flis 2
Asthma s D| Pneumonialt¥ ¢ |C Emphysema L B Bronchitis o~ .. A

cigarette smoke?

How many numbers of carcinogens are present in the

St KL S Pl e F
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At least 50 J?Lgﬂ'!f

At least 40

Atleast 60 #-¢i¢ | D v Cc et B| Atleast30 i | A
Total chemicals in tobacco smoke are: (LKL R S LSV
Over 4000 Over 3000 Over 2000 Over 1000
4000 £ v D 3000 & C 2000 £ B 1000 ¢ A
Waste materials that are removed by rubber
plant are: Ll sy L dune MK
Resins = D Latex u@ 4 C Mucilage él/r: B Gums/'f A
The plants which are completely or partially
submerged in fresh water are called: e q;é‘.nq,ﬁut&g IR JI Resgos
Epiphytes U™~ b D | Halophytes /b | C| Xerophytes o~ sz B | Hydrophytes o~ 6220 ¢/ | A
Sea grasses are: e Ui
Epiphytes ™~ 6 D | Halophytes /6 ¢ | C Xerophytes U~ b2 B Succulent ek A
Which plants have succulent organs? fe bl Ll c«:g:éuﬁu;‘c:.u/
Halophytes 6% | D | Xerophytes o* 6. ¢/ | C | Mesophytes 062 | B| Hydrophytes 0¥ 642t | A
The process of guttation occurs in the plant: te bt UnY J’ Kaf:f
Rubber plant 462, | D Keekar £ C Grass U v/ B Pine s* A
Excretion of water through special pores present at
the margin of leaves is called: e QW J%)‘fu!&gc;wuiwu‘ bazy qus I LU
Sublimation > | p Transpiration ¢* A | ¢ Guttation o= v/ B Evaporation ¢,s A
Resins, as waste material, is excreted from: re bl A b e A
Rubber 2 D Kikar &~ C Tomato A/ B Conifers 33y ¢/ A
Which plant excretes latex? ety
Rubber plant ;6.
Tomato /¢ D v ' C Conifers &4 B Keekar £ A
The waste material excreted in rubber plant is: Y AP Py
Mucilage Z;Lf,;* D Resins 2. C Latex /% v/ B Gums// A
The waste material excreted from carnivores and lady .
finger is: 16 O, = S9Shea ol s uns 3K
Mucilage @“lfr: v D Resins ~. C Latex % B Gums/'f A
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The roots of these plants is very strong: . Bl A ey 24 Ung

Mesophytes u”fts,f: D Halophytes ﬂw C | Xerophytes Ly v B | Hydrophytes u"’flsuifg A
Which of the following maintains the body

temperature? e b S A N0 fe K

Lungs < s%% D Skin 4 ¢/ C Kidneys ./ B Ear u¢ A

The internal temperature of human body is: :‘Lt'n:ul]euaui’gf)‘ Ut

57°C D 47°C C 37°Cv B 27°C A

The excretion of waste materials form body is called: S b Tl 4T ;ﬁ
Thermoregulation Osmoregulation

S F D e C Respiration ¢* = B Excretion Lﬂ)ég’ v A

Which would not be present in the filtrate entering the
Bowman’s capsule of nephron?

Sen YUt e P i n PotUrl oty sk

Calcium ions
Urea Ly D| Bloodcells ¥4 ¢ |C STk B Water dy A
Which organ is responsible for filtering the blood? P Ssw36i S, P‘f s
Kidney ».) ¢/ D Stomach s c Brain &Ls B Intestine ¢/~ A

Body balance of water, salts, temperature and
glucose is termed as:

g b I o o

Tubular secretion

Homeostasis
Re absorption ¢*.121$, | D NN % c F i B Excretion ua;{, A
As per normal chemical composition the amount of . .
water in the urine is: e Qi 8 &g‘ﬂ?@,‘ﬂgﬁb{dﬁ'{ S
0.95 v D 0.8 c 0.7 B 0.6 A

Which is absorbed in a tubule going down from loop
of Henle?

e Bk g0 ol Ve & STy

Urea |y D Water &g 4 C Glucose /¥ B Salts c,t;ff' A
Functional unit of kidney is called: :‘c‘jﬁﬁcfuf
Loop of henle

Ureter x4 D &_;_5!’7) c Nephron s ¢/ B Glomerulus uﬂﬁ‘}g A

In an adult man the average urine formation in a day .
is: :‘ajl,@fng&;utu;._gu:uuldg ._.Q
3 liter 3 / D 1.4 liter1.4 / v c 1.3 liter 1.3/ B 4 liter 4 / A
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Human urinary system consists of: et 7 Gl
Urinary bladder
All of these ¢ v/ D Ry C Ureter x4 Kidneys «»/ A
The length of each kidney is: e GndlerS
27cm 2 D 4 cm C 5cm 10cm v A
Weight of human kidney is approximately: :+bnuj;f¢ )”" Ko E
120g v D 60 g C 127 g 27 ¢ A
Renal pelvis is a part of: i LU
Kidneys §uss.” ¢/ D Heart §Js C Lungs ¥Use?% Testes £+ A
How many nephrons are present in each kidney? ?ujz_nh}:’f{ufg;f /
Over one million

Over two millions Over 1.5 millions Over 0.5 millions
il P D 157 c P v *0.5¢ 7 A
The average life for donated kidney is: ‘L(}M/Jw'd/g:f é&;,y
15 to 20 years D 10to 15 years ¢/ C 5 to 10 years 1to 5 years A
Who is the writer of Encyclopedia “Al-Tasrif"? ‘-"au"J L‘f( 4ﬂ!gg%uf

Jabir-bin-Hayan
Aristotle -1 D sl C Al-Farabi Jiu Abu-Al-Qasim F @i ¢ | A
Processes that carry nerve impulses away from the
cell body are called: Bl ma S A 122 2
Myelin Sheath

M D| Synapses ~<dL | cC Dendrites ™ 1,43 Axons SEI o/ A

Apart from hearing, what other major body function is

performed by the ear?

4 ;,(Lfl/‘j"’ Ay’ m((-’ Koo L S

Reduction in nerve

Body balance

Hormone secretion

All of these (17 D | pressure § Ay | C qu?Kﬁ 4 J%)?ur/g A
Which type of coordination is found in plants? ‘-"cc}l,oég T, r:’ JU Und
Nervous Mechanical
Electrical coordination coordination coordination chemical coordination
ST D B=CHIN, C LI o T A

How many numbers of components are involved in

coordinated action?

:‘L)LU." Jﬂ,{dlﬁuﬁ uf‘gliﬁfjﬁfug
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Seven =i D Five ég v C Three B TWO 1 A
A coordinated action ends at: :‘ab'nf" uifwfjn’f
Effectors J}@l D | Coordinator /":{:"/T/ Cc Response J;;%/ 4 B Stimulus dﬂ“ A
Which organs act as a coordinator in a chemical ) ..
coordination? St Kb 18 L Meud a1 KL
Endocrine glands
Neurons Sy« D JE A (o} Spinal cord Lbﬂf/l{ B Brain {us A
It is responsible for chemical coordination: :‘aﬂusKJ’f“LTf 2
Autonomic nervous Peripheral nervous Central nervous system Endocrine system
system ¢~ U dFIT | D | system T uidis | C U B IV A
Which organs act as effectors in nervous ) ..
coordination? S b P £ S e T s
Bones UL D Both uss» v/ C Glands =¥ B Muscles #* A
Which one is coordinator in nervous coordination? 4/"5151”/ ...91)/ uﬁu"’."b"f Jas
Brain and spinal cord
Spinal cord LKft; D Brain &Ls c mﬂf}mbu v B Glands =¥ A
Specific organs, tissues or cells of the body that , L
intercept the stimuli: LW S g $lussr 2k P T L
Dendrites U~ 1. D | Coordinators j~5. 1 | C Effectors ;42 B Receptors j =+, v/ A
Action performed by effectors is: e bl P
Involuntary (§ s D Voluntary § s (o} Stimulus s> B Response UJ};%/ v A
In neuron, nucleus is present in: e bllbUs. L st
Nodes of Ranvier
o1 ST D Cell body d;"ng v C Axons #1£1 B Myelin sheeth P A
The myelin Sheath is formed by......... , which wrap
Y 5 e . - & %
around the axons of some neurons. -u}Lnd;:/&/lmf:fzwu-f. ......... I
Schwann cells * i Nodes of Ranvier 55
v D| Dendrites ~ Lk | C Axons 141 B A A
The unit of nervous system is: :g%nf (“/ V7
Nephron s 2 D Receptors J A, C Neuron s ¢ B Nucleus u:“g;c‘ A

The thread like projections of a neuron cell body
which conduct nerve impulses away from the cell
body of neuron are called:

1 O ot Qo s S8 S 1022 U0 Aos S8 JE L st
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Nodes of Ranvier
ST D | Schwancells ¥u# | C Dendrites U~ 1.5 B Axons 11 v/ A

The clusters of neurons cell bodies outside CNS are
called:

g LWL Lo p L ol e

Ganglia L&/ v/ D | Meninges &7 | ¢ Nerves Jjs/ B Pons #, A
How many types of nerves are classified on the basis N
of property of axons? te e utrt,ﬁlu'f S iss g e S50
Five ég D Four g C Three f ¢/ B TWO A
Types of neurons according to their work are: :ugrlﬁlJ )'u,e:..kuérK
Six z D Five ég c Four B Three f ¢/ A

Which neurons conduct impulses from CNS to
effectors?

S5 e 7 S kS o

Hormones 7» . D Sensory § C

Inter #i

B

Motor /+ v/ A

z

The largest and most highly developed part of human
brain is called:

e b oo B T oK £ U

Cerebellum (%% D Hindbrain ¢/.44| (o}

Forebrain o7 v/

B

Midbrain ¢4 A

If a problem exists in the medulla oblongata of a
brain, which function of the body will be affected?

v K o l/uf((??n ,.U"‘Ji(u‘f L‘ﬁ)‘-’;'w%’uﬁbbﬁ

Heart beat o/ 2§ Us
Thinking =>ted2» | D v C

Body balance

Ol

Intelligence =:{; A

Which part of a hindbrain controls muscle
movements?

e bt/ S o Ko n kA

Cerebrum ¢ = - D Pons /"g C

Cerebellum Hi/ v

Medulla oblongata 4~

LG skl A

The part of the brain responsible for muscle
movement, interpretation of the senses and the
memory is the:

?‘LJI;MBK&I»EM&L};J Sl 4 d/)/ 2L

Cerebellum HT% v D Cerebrum ¢z ~ C

Medulla oblongata
L‘@’)LU'UJ,?./

Pons /"g A

They receive information, interpret them and
stimulate motor neurons:

2k f S Ikt Sl LS K IS o d s

Motor neurons /»

Mixed neurons 7145 D % C

Inter neurons

g IV

B

Sensory neurons ¢ A

st A

Which one controls rage, pain, pleasure and sorrow?

:+vfd;fffavu14ﬂ;ld’},w,,/}
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Hypothalamus
Midbrain /.4 D AV Medulla vs.4+ B Cerebellum Hﬁ/nf A

......... lobe of forebrain contains sensory areas that
receive impulses from skin:

‘LUJ/JLUFU/&’ LI)L)U)‘;:.L:“’ P u:.) ......... Ku:/.;}

Temporal J.»# D Occipital J%u’(l’ Frontal '} B Parietal J'1z ¢/ A

Vertebral column protects: e b/ &L}?/KJ s

Lungs «s% D Brain &Ls Spinal cord Lb/gf/l;« v |B Heart J; A

Spinal cord is the continuation of: :‘LJ“D LK [
) ) Medulla oblongata us.4~

Hypothalamus u== #l | D Thalamus u‘:&/ Frontal lobe _,}Uﬁ'/' B LEisks &/ A

Length of the spinal cord is: ‘aél,lufﬁ/(‘f:lr

40cm ¢ D 30cm 20 cm B 10 cm A

Pair of spinal nerves are: :ug;.izébjd’ll;

12 D 21 31v B 39 A

The myelin sheath is secreted by: W LM

Nodes of Ranvier
ST D Axons J£I Dendrites U~ 1.5 B | Schwann cells ¥ ui£ ¢ | A

This lobe occupies regions of receiving information
from skin:

:‘aV[/‘LUid/':LbL/U:‘:&LP;A'g:’,

Temporal J.s# D Occipital J45"T Parietal f1z v/ B Frontal '} A
the nature of myelin sheath is: ‘e bre L = B2 F
Rigid 4. D Insulator 41 v/ Elastic & B Conductor ¥ A

The largest part of forebrain is:

:‘abn/?’}.;ygq’/.;}

Cerebrum ¢z = v/ D Cerebellum f‘?/ Thalamus Jﬂu{ B | Hypothalamus == £ | A
This lobe belongs to the senses of hearing and
smelling: :‘L%ch_ur’&’fru!éf_,),
Temporal ¢/ J.s¢ D Occipital a7 Parietal J1 B Frontal J/ A

Effectors response after receiving information from
coordinator. These effectors are called:

gl SN i e s EY

Response J"t;a/ v D Effectors ;22

Coordinators

SRS

B Receptors J 42, A
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The outer most layer of a human eye consists of: +8nd>’ :&’A‘C—g«"t! £13un
Both band ¢
Unlsle V D Cornea iy Sclera 1 £ B Retina -, A
The middle layer of eye ball is: e O =l ndU £ T
Iris o /T D Retina -, Choroid k1.5 ¢/ B Sclera I £ A
Which part of human eye contains blood vessels? St M bt 2 e g L ETS U
Iris o /T D Pupil L Choroid 1.5 ¢/ B Retina ¢+, A
Central layer of eye is called: :‘aaﬂf J&yuuf £7
Iris o /7 D Retina -, Choroid 4.5 ¢ B Sclera I £ A

There is a round hole in the centre of an iris called:

:+bM )?“Lb'ytz/l/r‘d)’ HL e n Zg AT

Choroid 15" D Cornea L.y Sclera 1% B Pupil Lz v A

The middle layer of human eye is called: e G A0y 0 FTAU
Choroid %15 ¢/ D Pupil x Cornea ¥ B Sclera I £ A

The sensitive layer of eye is called: +8M ULl 1
Choroid 1" D Iris v /T Retina 12, ¢/ B Cornea L. A

In a human eye, there are rods about ......... lac: .25 )7 S I
225 D 200 125 v B 100 A
Rhodopsin is present in a part of an eye: sz LA LF Tt
Fovea &»” D Ligament «¢ Sclera ,/:{, B Rods Ji, ¢/ A

In human eye, there are about ......... lac cones: (LTS B, LA £
Nine 4 D Eight 47 Seven =\ v B Six £ A

Rods and cones are present on: oI I )
Retina 1, v/ D Blindspot % Cornea L.y B Sclera 1% A

It is the spot largely responsible for colour vision and

sharpness: e oK B s S U 2 e
Fovea Ls? v/ D| Opticdisc L3 gT Iris /7 B Blind spot L% A

The name of pigment found in cornea is:

PR SRR
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Tapetum (’“‘5 D Rhodopsin o5 | C lodine ¢3¢ 7 B lodopsin i TV A
The cochlea is present in: i Bssnr S
) Middle ear
Internal ear U 6.4

None of these uf’d/ D v Cc uﬁut{&yu B External ear uﬁ'ub/&}/;. A
Which separate middle ear from inner ear? :+8ﬂ»¥ = st UK{}E’H
Oval window s4s sl ¢/ | D Tampanum (*“: C Ear drum i ¢ B Stapes uzf“ A
The eyes of dogs and cats shine due to the layer: (3§ 7 P T Uk
Plueral (. D Tapicum ﬂj} Cc Tapetum (*f 4 B Tempanic .,C;:’ A

It is the part of inner ear: PR 15 L)
Pinna D Ossicle Lﬁ’T C Eardrum (.5 2/ B Cochlea Lf/s/ A
Decreases the concentration of glucose in blood: :‘ct'/ #’ Iy Lf'“/‘/f gif fuﬁuf
Calcitonin Jiu”ff D | Testosterone w/;"*}:" C Insulin Jf/'! v B Glucagon uft{f A
Power of speaking is only gifted to: :‘LL?(JW-J/:%J&:.‘
Crow ¥ 2_¢ D Parrot ¥ & # C Monkey # .. B | Human beings Y UsUI ¢/ | A

Oval window is present in: cdedit......... sk
Eye £T D | Internal ear uK[}u,a C External ear uK&,/;. B Middle ear uK&Lxm/ A

......... is present after auditory canal: 1o b ETLJod 5T
Pupil s D| Eardrumgsav |C Cochlea ¥ B Pinna A

The deficiency of this vitamin causes poor night .. .
vision: S ol S el S S s
AvV D B C C B D A
Who wrote three books on surgery and diseases of )
eye? A gt S p ST
Abdul Malik Asmai
RV D | Ali-lbn-Esa (,'f'fwu“ v |C Bu-Ali-Sina l:»:J‘!. B Ibn-e-Haythem (%"Jlu:! A
Insulin and glucagon are produced in the: ?w?‘.—uufuf K’{u’di’/"
Anterior pituitary Hypothalamus
Pancreas Jg)% v D Liver £ C 2y Y4 B Jﬁgy A
All of these are hormones except: LIV, I 1"
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Pepsinogen JZ+#% ¢ | D Glucagon BI7 1 C Thyroxin ﬂjéu? B Insulin u’f;i' A
Controls the secretion of pituitary gland: e by S Ji‘fd/‘:,i
) Hypothalamus
Thalamus ‘fij D AV C Cerebrum ¢ = B Grey matter e S A
When human body has low amount of water, then
& 5 » - 4 - 4 .
pituitary gland secretion: (SRS LES 8T S F QL ? Luies
Oxytocin JJJ(T D TSH c Insulin g2+ B | Versopersrin gapis ¢/ | A
Beneath the larynx in a human neck, name of gland
is: :‘L(L-Kj;g,"mrééu”/guﬁu;fgfuw
Pancreas Jg)% D Adrenal .4 C Thyroid Jguéu? B | Parathyroid ﬁ;uéu?!ﬁ vV | A
3 - R4 & '3
Hormone increasing level of calcium ions in blood is: ?‘at’lw.f g ,(;i{ B0 4Cle JPVU"/
Paratharmone
Oxytocin o7 7 D UrBIE v c Calcitonin o ig~ B Adrenaline uftauj’ A
Which is responsible for puberty and voice pitch
lowering in male? ?‘ac_.?;&/ b S T UM g g
Testosterone s s
Glucagon BIL 71 D v C | Progesterone ¢:~%; | B Estrogen s~ A
Which hormone is secreted by ovary? e bnB ooy 4L = Sosd
Progesterone s <%
4 D | Testosterone u;/}“ﬁ C Calcitonin u’iﬁf B Adrenaline uftauj’ A
This hormone is secreted in case of emergency .
situation: re bl oo § LIy Ay
Calcitonin c/’ﬁu’g D | Adrenaline Jfb,/,g! v | C Glucagon u)?f B Pancreas Jg}:» A
Testosterone hormone is secreted from: bl loe......... Uy s
Thyroid gland
Adrenal gland £ .41 | D JA SN C Gonads i/ v/ B Pancreas i f+ A
s & N
It reduces the amount of calcium ions in blood: :+b/(/f/’ﬁ'uff ’(-fgufui
Oxytocin o 7s”7 D | Vasopression ¢* s | ¢ | Parathormone w».#1z | B | Calcitonin IV A
The largest endocrine gland in the human body is: :‘Lﬁzguf'ﬁi‘c“}.c—wuﬁ(? Ly
Thyroid gland Parathyroid gland Adrenal gland
Pancreas i £+ D K v C JA SIS B 2B e A

All of the following are hormones except:

:L’Y‘J.";')'}"JWV"U':J“EQJJ
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Pepsinogen J*s=%= ¢ | D Thyroxin u’@@tz C Insulin u:J;J! B Glucagon ufég A
Which hormone produces male secondary sex
characters? S tbei i/ :3 S 2 letd
Progesterone
Insulin US,J; D w,»"/ﬁu? C Estrogen /*s ~ B | Testosterone UJﬁL):'.'; vV | A
It prepare rhodopsin from vitamin ......... in the body: e b e L"uﬂ("
A,B D D C AvV B K A
In every 100 ml of human blood concentration of
glucose is maintained as: :‘Lblgu?ft?fu?/‘-'/{&ffut 100 ml, L Ly
80-120 mg v D 100-150 mg C 150-180 mg B 180-200 mg A
How many bones make our skull? srusd AL
26 D 24 C 22v B 14 A
What do some bones produce? ?ug&zl[ugé/:
Blood cells ¥ i v/ D Oxygen ij C Hormones /s B Mucous L/;: A
The bones in pelvic or hip girdle are: rdseub L LS
Five ég D Four g C Three of B TWO »» ¢/ A
In mammals, the number of bones in lower jaw are: :‘agm'»"tfuzéuﬁa/?{’.i‘uf%
Five » D Four . c Three oF B Only one iz~ v/ A
How many bones are there in appendicular skeleton? ‘-'c‘-lﬂ./ J a—da’éu&/ Lﬂ? /’Q:'-:'
126 v D 124 C 122 B 20 A
Bone marrow is found in: e bl g U
Spongy bone Compact bone
Chondrocytes o~ 5.i€ | D | Osteocytes U~ Lss | C Sl v B -, .Af:f A
The part of bone in which blood vessels are present .
is: :rdedy bt 20 L6
Bone marrow
None u:’&/ D bf&ﬂj/} Cc | Compact bone uy,:,g;[ B | Spongy bone ui.(f::;’ vV | A
......... is present as a cover on the ends of long bones: :ebnuﬁc}é d. -Jﬂi«;u’/l‘r‘/ﬁuz%o% p
Inelastic cartilage Elastic cartilage Hyaline cartilage
Fibrous cartilage
&KLy D & A c & KL B & v A
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There are also fibres in the matrix of cartilage called:

wz,mff;/.'lsmé‘f,‘{éﬁx

Leukuna Lu;? D Collagen ‘ff'/t/ C Insulin Jfﬁ'! B Glucagon uf&f A
Cartilagenous cells are called: :ugLM}fLG&’M
Chondrocytes ¢/
Erthrocyted *1s7%1 | D | Leucocytes /L& | c| Osteocytes /Ly | B NP 1 A
Nose and larynx are made up of: :ujLM’;qu/;l.‘/b
Elastic cartilage Hyaline cartilage
Fibrous cartilage
Bone (4 D & K A6 C &F KL B g hAn v A
The hard outer layer of bone is called: e AW 25 dh oS4
Compact bone
Epidermis u//;‘(g D uzu?;‘r 4 (o} Cartilage é—“b/b/ B Spongy bone ui.‘f::f A
Number of bones in both feet is: +8mw7 iy ULAUR U5 U9
54 v D 22 C 126 B 108 A
Babies are born with soft bones: ‘aémw’" iy ULh IR Ll rle
300 v D 266 C 206 B 200 A
Which bone is a part of appendicular skeleton? ‘-’q-uf J‘L’p /"gfé:’détf oy
Pectoral girdle J.s& Vertebral column J s
LSV D Sternum ¢~ C <1 B Skull gz A
The smallest bone of a human skeleton is: :q-déd:%’cy&f‘fp&uu’
Vertebra /2 D Malleus Jff C Incus J(l B Stapes wf“ v A
The biggest bone is found in our: :‘gd»:dzc./‘!u‘*?éuw
Waist & D Leg —ft C Hand #| B Thigh {& v/ A
Number of cranial bones is: e SushdinS
80 D 22 C 14 B 8 v A
The mature bone cells are called: :‘ab-lgb‘a’ﬁfé’l:zid,g
Osteocytes U~ Lo
Bone marrow : 22 | D v C Monocytes U~ L9 B| Coenocytes /L4 | A
Which one the following have exoskeleton? ‘-"cb'ﬂub“il? AtS ety
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Reptiles )‘/Lﬁ-;/ D Mammals A< C Birds <44 B | Arthropods 5542, 7v | A
In adult person skeleton has hard bones: e dsld Sughed LB
106 D 206 v C 306 B 406 A
The end of muscle attached with moveable bone is: (e b e bl AL LSS 2 6P
Extensions ~<U% | D | Insertion /v | C Flexes A B Origin sl A
The hard connective tissue is: :9?@?7 e e Uit
Tendens g+ D Ligament w§ C Bone vy v B Cartilage éé% A
The end of skeletal muscle attached with immoveable .
bone is: ‘e netnla $4SF E b ¥7 N
origin .5 v/ D Insertion o i c Belly B Static end /& A
Deposition of uric acid in joints results in: :‘LGMUJL;.a.Z_nz}M..Cgu:ug@
Rheumatoid arthritis Osteoporosis Osteoarthritis
BT D U g C Gout =i v/ B B T A
Osteoporosis is a disease of: :‘adlkg...g;f/ ug,;‘v,l
Brain &L D Stomach Sser C Heart {U> B Bones Suys v/ A
Generally gout attacks the joints of: :4‘-3/ thf*"”!zu’- I "
Hinge £ & D Ankle Z & C Hip £ & B| ToeZluddus v A
A disease caused by the shortage of estrogen
hormone is: ?‘a&Cnd/L:.u’ T ;u{ J ur;yu’o, 4
Osteoarthritis Rheumatoid arthritis Osteoporosis U~ 45+
N F T D B ey, c v B Gout =3¢ A

A process in which genetic material of one generation

is transmitted to next is known as:

:c‘-vM,ngt[J"'u:J”ﬁ;tb’m«.dj.gu:‘ﬁfu

Circulation ﬂf/ D Reduction Jﬁj/ C Respiration cﬁ/t;_)/ B | Reproduction J/s,,;“/ vV | A
Essential process for continuation of species is: :‘LJ‘f du/‘,iﬁnfu 5}?610}
Locomotion F» 54" D | Respiration Jd/tég/ C Cloning £ B | Reproduction ‘f@%/ vV | A

The simple and most common way of asexual . )
reproduction in bacteria is: :‘L:._J)ru,,uup;yw@, /;./Jr?‘ IUEL ig
Regeneration Multiple fission ) o ,
Binary fission ¢~
Budding % D S c SNy B o A
Process of budding occurs in? tq bl S s
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Paramecium
Amoeba L/ D Rhizopus Jzs A C Hydra L%\ v/ B ﬁ%u;, A
The main method of reproduction in sponge, hydra . i .
and corals is: PRy ,,quf’ PRI RSN e
Regeneration
Budding % v/ D FAG C Spores iz B | Fragmentation ‘ﬁ”:f/ A
In which type of reproduction method, buds are .
formed? NN IV VI LY
Binary fission J)d/g D Budding %~ v/ C | Fragmentation J/?:f/' B Regeneration ¢* 7. A
Rhizopus reproduces asexually by the process of: b OIS Ut A
Spore formation
‘ﬁ/Gu{ v D Corms ».¢" Cc Budding j}; B | Fragmentation J/f‘:f/' A
Budding is found in: 1ot LL B PEFL
Yeast e v/ D Bacteria | 2& C Planaria | /% B Amoeba L A
Binary fission is seen in: :93%33 J)d/"lg
Corals /.5~ D Hydra L2 C Planaria \ /% ¢/ B Yeast &, A
Pollination is the transfer of pollens from: -c‘-bmf"; 62/ J{:’/édﬁfd;‘
Petal to sepal Sepal to petal Stigma to anther Anther to stigma
P oy D (e c e F B e v A
A corm develops into new garlic plant. This is the
process of: et S it ez Loyt e pf
Gametogenesis Regeneration Vegetative propagation
oAl D| Meiosisu” 48 | C F7 B it v A
Growing a new plant from any part of a plant is called: :‘L?MJJ)KLb’":z‘?ugé—&ftha:z
Vegetative
propagation Regeneration
Fragmentation
I VA S c S B Budding A
Which one is an artificial vegetative propagation? fe b 12 Sy U e
Grafting &1/ v/ D Rhizomes 71, C Corms .5 B Bulbs 4 A

Which plant reproduces by stem tubers?

St/ Ut psd 5L s A gl
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Ginger s D Potato 47/ C Garlic 7 B Onion Ji; A
Example of stem tuber is: :‘ade»J/.x‘ff’
Potato #7 v/ D Ginger o c Garlic o7 B Tulip s A
The method used for cultivation of sugarcane is: e YL LSS L
Spores Jis D Layering _f/ C Grafting S B Cutting v A
Source of budding in Garlic: WL ‘f’/fwle.’zéd""'
Stem tubers J/;:"(f’ D Corms 7.5 v/ C Rhizome ¢/, B Bulbs A
Vegetative propagation in mint takes place by: L2k +3n J’ﬁ"{%‘ﬂ e
Suckers i* v D Leaves & c Corms 7.4 B Rhizome ¢, A
This method is used to propagate peach and plum P
trees: e AL )il £ c&f:g"’{J Az Tushs ST
Corms ;.5 D Bulbs C Grafting _&. v B Cutting & A
Female reproductive part of a flower is called: e b 2§l Tosl 6
Corolla vs.s” D Calyx u’@/ C | Gynoecium 1/(/‘3%.@? B Androecuim (/“;uja! A
Calyx is the outer most whorl of the flower and bears 2
the colour: :c‘-bﬂhﬂgjlulc‘_l/f/ G abt A
White 4 D Blue i C Green » v/ B Red L~ A
The unit of corolla is called: FROT 1y
Sepals A4~ D Stamens /‘:" C Petals # ¢/ B Carpals A A
The second whorl of a flower is: 1 bl 2 PO
Gynoecium ﬁ&:d( D Calyx u’@f C Corolla 1./ ¢/ B Androecium (”;u}g! A
The third whorl of a flower in which stamens are -
present is called a: e bt L nszy u‘:’ uf&l/l YA
Androecium f’»‘iu}zg!
Gynoecium ﬁ%‘dg D v C Corolla 15/ B Calyx A A
It is not a part of a carpal: e 26K
Style St D Stigma ¥ C Anther 7 ¢/ B Ovary § A
Male reproductive part of the flower is called: :+rM y}fi%-./iw;é
Sepal J D Ovary $.sf C Stamen o=~ v/ B Carpal .8 A
http://www.pakquess.com Sir Abbas Gagra Contact # 0303 9300943 Page 17



http://www.pakguess.com/

http:/www.pakqguess.com

Class 10t Guess
Annual 2025

The female reproductive organ of the flower is called:

:‘L?M d’:f}";‘: /;.ml.KJy{

Petal /% D Sepal C Carpal .6 v/ B Stamen o=~ A
Ripen ovary is called: :+3M dw'émg
Nector U D Fruit J»# Cc Fruit J v/ B Seed & A
From which part of the embryo root is formed? ‘-"LGE?.c'-—ﬁJ( Ly
Epicotyle J/u/qxl D Radical Jéﬁj/ v C Cotyledon ¢4/d¥ B Plumule Jx 4 A
Microspore in plants is also termed as: :+rty,:K)/,:,/? bas* U Uy
Germ nucleus Pollen grains
Mega spore s &- D J“(x:(i. C Pollen tube — ¢/ B w2V A
The scar present on seed coat is called: :‘at-uf uL‘Juzr4¢,f g
Hilum (Vy v D Ovule Jyss c Integument o1 B Micropile J/g,f’t A
An angiosperm seed consists of distinct parts: {4 Lﬂ&ﬂ'ﬁgﬁfd £
Five ég D Four /g C Three f ¢/ B TWO A
The optimum temperature for the germination of .
seeds is: =+Mf,~/ff:""é£u"~;:i.tf§
350C-40°C 300C-35°C 250C-30°C v/
D C B 200C-25°C A
Corm is an example of: e JerLies
Garlic o7 v D Potato #7 C Onion i B Ginger o A
Seed absorbs water through: PP, S A u,«ifég@
Testa & D Hilum (Vg C Micropyle J:lg/?/l, v B Integument Yyl A
The outermost whorl of flower is called: et b s b s
Corolla 15/ D Petals ~ C Calyx A v B Androecium (/‘“&,/J’e' A
The plant in which vegetative propagation occurs by
leaves is: e bR 3 L URUAR
Bryophyllum Hf/u};’u. vV |D Potato #7 C Ginger B Garlic o7 A
There is a scar on seed coat where the seed is
attached to ovary wall is called: (L B b MSEmBE L U Ll
Apicotyl fes gl D Plumule Jx4 c Hilum #} v/ B Radical 4. A
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Example of rhizome stem is: i Jer LK s A
Garlic 7 D Onion Ji; Potato #7 B Ginger JS v/ A
These are horizontal underground stems: Wl na&‘u;t&uﬁ
None u:’d/ D Suckers .~ Rhizomes /. ¢/ B Tubers J % A
From which part of the embryo, root is formed: ?‘L&ﬁ?c:—&xf( Ly
Hypocotyls ¢+ D| Cotyledons uijé( Plumule Jx 4 B Radical Jég/ v A
Every mature ovary is called: :+3M sl =%z
Sporangia . D Flower J¥% Fruit /£ v B Seed & A
The transfer of pollen grains to stigma is called: 1t b (FvrS Jg
Pollination gﬁ"dg v | D| Fertilization o7’} Reproduction ‘ff;"%/ B Germination o~z A
The latest method of vegetative propagation is: :+bM Q){#KJ’&:{ 7o)
Cloning £+ v D Cutting & Bulbs B Budding 4 A
The fourth whorl of a flower is: ‘al/ BzKU%
Corolla 5./ D | Gynoecium (:“/:db/ 4 Androecium (fujal B Calyx Jf{/ A

The example of flowers which pollinate through
insects is:

e JeSudgind Sl sl el p

Rose —¥ v/ D Willow Hazelnuts J B Grass U A
The vegetative propagation in onion takes place p
through: e tnd Kﬁ?ﬂ{;‘éé‘;uﬁg
Corms (.4 D Rhizome pj&u Bulb -4 ¢/ B Stem tubes )x‘(f’ A
The reproductive part of a flower is: PRIy Y Y]
Root 7 D Flower J# v/ Leaf i, B Stem £ A
The middle part of carpal is called: :‘a,ﬁ&vu&k%
Ovary §sl D Stigma F Style St v/ B Filament w6 A

In animals process of reproduction without
fertilization is called:

:‘LE'MJ{ (c/‘(ﬁ;/,udb My P u%/"ﬂf/uﬁ Ussdle

Tissue culture

Fission f D /.KP

Partheno genesis +#.,

VX%

B | Parthenocarpy Q/K}f;/g A
Male gonads are called: LW kS
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Testes = v/ D Eggs « i C Ovary §. B Sperms > A
Formation of gametes is called: :+bllf L*Kuff'“f
Spermatogenesis Gametogenesis
u/.i;‘%'f/? D Oogenesis u/’f,,, C u’/“)rj‘j/t/ B | Sporogenesis u/zﬁu}gﬁ A
The production of sperms in testes is called: =+E‘M e ufﬁ”
Gametogenesis Spermatogenesis
Spermatozoon w7 | D u/fr:‘f (o} u’/)r:‘ V' B Oogenesis u/'ﬁm A
o) o
Sperms and fluid is collectively called: :uggff M JF V370
Scrotum ¢+ D Follicle &% C Semen & v B Hormone w4 A
After fertilization zygote is carried to: (e bl . Sl LRI
Fallopian tube
Uterus U2y v/ D .,,;E’J‘&)é o} Vagina £z B Cervix ‘/;/ A
External fertilization occurs mostly in: ‘X:‘a@n(‘f'u“uycf"/ﬂ:‘/lf 1
) Moist environment ) Aquatic environment
Dry environment £ Hot environment Jyl.rf
JEJot D Ul C ¥ B Gl v A
External fertilization is found in: e Qedy AL IS A
Mammals % 4" D Birds (xusiy C Humans J«usul B Fishes Jtud v/ A
Internal fertilization takes place in: i Al Aw S S A
Reptilla u:}/w;/ D Birds fussiy v C Frog oS o B Fishes u:urkf A
According to UNAID 0.1% of adult population of . .
Pakistan has disease: A dys et Euasd0.1 Uhutl (e LUNAID
T.B 4d D Polio c AIDS 1 v/ B Hepatitis o~ b A
The cell results by combining sperm and ovum: e th e L enlisle
Nucleus uz‘g}c D Zygote a}?’u 4 C Genes =2 B Chromosomes/'wn/ A
An example of endo parasite is: e Jedetip
Plasmodium “jk | D Lice ' # C Leech £ B Mosquitoes 4 A
Thesperms enter into a sperm duct from epidedmis,
which is called: g ag it dirg /P otisg
Vas deferens 25 Seminiferous tubules Seminal vesicles J%
v D It U B C & B Semen v~ A
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In how many days embryo develops to offspring in

rabbit? Sy AU E A f ey AT I
25-30 days D 30-32 days v/ C 20-30 days B 30-40 days A
It is diploid (2N): 1 (N2) 15
Endosperm ¢z s%/ D Zygote = £ v C Sperm cell F ¢ B Egg cell” J<{i A
Which animal is not able to reproduce during the
months of summer? oS st s LSS ey
Dog D Monkey . C Rabbit J57 ¢/ B Cat¢ A
The process in which genetic material of one . .
generation is transmitted to next is known as: e b et S ol it S e
Inheritance <*i.s D Reduction fg/ C Respiration ﬁ/t;g/ B | Reproduction st’%/ vV | A

Transmission of character from parent of offspring is

called: e b e Vool lor® o Ay
Reproduction f/ﬁ;/?u D | Regeneration Fr8s | e Mutation u’fr: B Inheritance =3s ¢/ A
These are the units of inheritance: RIS =2
Genotype Lz D Phenotype */er Cc Alleles * B Genes =2 vV A
It is a heredity (genetic) material: :c‘-utff ]
Rrna DNA v/ D tRNA rRNA C MRNA tRNA B null mMRNA A
The process of formation of protein is: re b g K&Luﬁ'%
Replication ﬁ%\"’"/ D Mutation u’:r: C Duplication J’:%) B Translation u‘/:uu" 4 A
Genetics is the branch of biology in which we study: :uzf-f:ﬂkfr“uﬁfc‘-bl?m}/&)ﬂu‘%
Evolution 6./ D | Inheritance &5 v/ | C Fossils 2 B Functions)ﬁg A
An organism expressed physical trait, such as seed
color or pod shape is called its: -‘aéuf i QJJK@II?MW Ut p Sy
Physical type (Bdw D Karyotype .?/’u[ C Phenotype gm’ 4 B Genotype us? A
Chromatin material is made up of: S bbbl
DNA and protein RNA and protein
Pyl IS5 v D Fagsle 1T Cc DNA o I¢153 B Protein ¢y A
Location of genes on chromosomes are called: re b (@Kjﬁyyr,/
Genotypes 52 D | Phenotypes s | C Alleles &' B Loci J6¥ v A
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Genes consists of: 0 2
DNA ¢/ D Protein %4 c mRNA B RNA A
Inherited characters are called: )t A %”,5 G
Fertilization o*/5° | D Genetics U= C Traits U+ v/ B Genes =2 A

In human body cells, the number of pairs of
homologous chromosomes is:

‘L&M}U’j Susizl s/ St X L (’ Z il

25 D 24 C

23v B 22 A

How many pairs of homologous chromosomes are
present in human body?

:‘aamw‘" Ju;iﬁé;rm/uf;’rnufé f)'ﬁ Ul

56 D 28 C

46 B 23v A

In a nucleosome, DNA is wrapped around a protein
named:

:uggfé‘am L‘;b/& u5;4...gglwd5‘uf rr'x.gxf..-g

Hemoglobin B D Histone ys ¢/ C

Interferon s 2 £ B Insulin ¢+ A

DNA wraps around a histone protein and forms a
round structure called: Q

w2 et IS g tntin) £ ofsguint IS

Nucleosome ¢
Phosphate &6 D v C Nucleotide #tsfx B Polysome ¢»dy A
Model of a DNA structure was presented by: WLV s
Charles Darwin Watson and Crick
C.D. Buffon o*$5s | D i e C S v B Mendal iz A

James Watson and Frances Crick proposed the
structure of DNA in:

WA SIS S 2

1954 A.D D 1953AD v C

1952 A.D B 1951 A.D A

In the structure of a DNA, adenine of one nucleotide
makes a pair with which of the following nitrogen
bases?

P e Sree e o pie P FeS e e Ot Ay Le s
S Quliz AL L U

Uracil S, D| Thyminetdé v |C

Cytosine ¢ s B Guanine 15 A

Between adenine and thymine the number of
hydrogen bonds is:

St L 2 oy s LA QB ol 4

Eight #7 D Six £ C

Four /& B Two » ¢/ A

......... hydrogen bonds are present between cytosine
and guanine:

‘.'u“;’Ln}'g cf'uﬂguy‘ué uf'ﬁ;'wf”b

Five ég D Four e C

Three f ¢ B Two " s A
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Formation of messenger RNA (mRNA) from DNA is .
called: :c b/t RNA (MRNA) 2~ < DNA
Transcription o%.~1; ‘
Translocation ﬂ)’u" D v c Transduction flﬁu" B Translation ‘ﬁ‘pu" A
The alternate forms of gene are called: :uj%ff u7u‘d:£?*d/ o u“-g
Multiple alleles
Characters ;2. D Ak C Alternatives Jj# /T B Alleles ¥ v/ A
Alternative forms of alleles are called: :uj:",ff u?md:w vau"-g
Gametes gfff‘f D | Chromosomes »»+s./ | C DNA 1¢/1$5 B Alleles *i v/ A
In DNA nucleotide, ........ . joins with guanine: +le'iﬁuf W, gt e e IS
Adenine ¢ §4! D Uracil J"1.y (o} Thymine oede B Cytosine oIl v A
The specific combination of genes in an individual is )
known as: i bR P W2 U S
Heterozygous Jg/b’: 4 | D | Homozygous Jg/u'rn C Genotype Fus¥ B Phenotype .fw’ v A

Physical appearance of organisms such as colour and

height, etc are called:

Wy 0 B e oS p6 S s

Genome #¢ D Karyotype™ b/vg[ C Phenotype ,/L,v:’ v B Genotype Fes# A
Cytosine always form a link with: P TRV WS NP
Uracil JLy D Guanine 1/ ¢/ C Adenine ¢ $4f B Thymine ¢Jw A
The location of gene on a chromosome is called: :ug;ff (&L’,’:Q,lé s )
Locus '/ v/ D Trait &/ (o} Nucleosome prrfr; B Genome 52 A

The part of DNA which have instructions to prepare a

specific protein is called:

DNA ¢t/ Usszr edlyd LS Shogf s iy L2 onb:

Chromosome (rn/ D Gene yf vV C Alleles + B Traits U~/ A
The changings in DNA are called: DNA U O Ukk sz U2
Zygous u‘g/lj D Mutations ¢ v/ C | Heterozygous u*g/u, 40 | B Homozygous u—glurn A
Albinism is a/an ......... trait: TROY N ...g(;’-.’l
Co dominant

Incomplete dominant
Lo D sy C Recessive ¢/ _# B Dominant /¢ A
Dominant alleles are represented by: =+He£f,{lb'f ﬂ:Jh..Jl'o‘
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Capital letters Small letters
Numerical numbers Roman numbers s

c__ur)«'ﬂ}V D c_u;ﬁ} C PRIy PR T4 B el g A
Scientist who developed law of segregation: B ESTIL P

Charles Darwin .

Gregor Mendel Jir £/
Ui D| RCPunnettess.7 | ¢ v B| JohnMethew #“ub | A

On which vegetable, Mendel carried out a large .

number of experiments? sl f rolil S 2 0"
Cabbage u’ff D Potato #7 C Tomato A/ B Garden pea » v A

How much pea plants Mendel used in his
experiments?

WUete £ el S S Uyl p &

27000 D 26000 C 29000 v B 28000 A
The term true breeding means: PRSP I
Different ¥ D Same ¥ (i C | Heterozygous J?U; 4| B | Homozygous Jg/’/')”n v | A

Which organism has short but fast life cycle by
Mendel?

S 2 bt goo f F T T WAL O £ e

Tulip ¢ D Onion J, C

Pea » v

B

Ginger o

A

A cross in which one character is studied at a time is
called:

e bW 0 b b G LUt R L1 oL

Back cross ') & D| Testcross /e |C

Dihybrid cross

oAb

Monohybrid cross
A v

The representation of a genotype in the form of a
characteristics is called:

:qz;ff/w.é.gwo’rutfgfayﬁ

Recessive s, D Dominant eoss (o} Phenotype ,/L,v:’ v B Genotype e A
Producing the normal body pigments is an example 7.
of: :c‘-dt‘-ﬁt'f!k«.u"(dbﬂ?gf;b
Chromosomes »»+:/ | D Traits * C Genotype fes# B Phenotype .fu:’ v A

The term artificial selection was expressed by the
scientist:

01/ ke I F L e Sty S 52

Abu RayhanBairuni

G gt ¥ D | C.D.Buffon 2858 | C

Theophrastus ™ 1%

Aristotle £

Who proposed the mechanism of organic evolution in
18387

s K PG A0 21838

Buffon .~ D Charles Darwin o

lan Wilmut el 7

B

Mendel Ji»

A
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uu';’gf}/.lf (4

In artificial selection, the bred plants are called:

gt M 2 B0 S S sy LIty § 7o

Varieties or cultivars

ks v D Lichens 7 C Mutation % » B Breeds JJ . A

How many years, Darwin traveled in HMS ship? oy (HMS iz AL E Lt
Seven = D Six # Cc Five ég (4 B Four /& A
Theory of natural selection was presented by: Y AN J?tg[bf’
Malthus u”wL D Darwin s/l ¢/ C Lamarck Ay B Aristotle - A
Such plants whose breeding is carried out are called: (gt S 2o Sage
Insectivores J.ss u-? I D Carnivores J/»&/K C Breeders Ji.. B Cultivores Jmf{ v A

Which of the following is the abiotic component of the

ecosystem? S UL sz P Kl Ui 500
Oxygen FIV D| Camivores ind# | C Herbivores J.sd B Producers J ~4s4 A
Organisms in the ecosystem that are responsible for
recycling of plant and animal wastes are: 1t s KA 2l LB L Usidlg il Unsy 20 Bgws e £
Decomposers J/J;,f U3
Competitions /%{ D v C Consumers J/g'/ B Producers J ~43s A
Which one is a tertiary consumer? ?9/#( 8 A et
Lion 2 D Wolf L& v C Rabbit 57 B Frog e A
Decomposers are: :q;;;};{dﬁ
Fungi and bacteria
L5 E D Animals . ¢/ C Mosses »» B Algae ¢ A
Which animal is a primary consumer? ‘-'%/Z’/'%/’;zi@bu[
Fox ¢/ D Lion 2 C Frog e B | Grasshopper oSV | A
Which one of these is not a tertiary carnivore? e mdHS frtiud e
Leapord g D Snake - v/ C Tiger £ B Lion / A
It is the example of a tertiary consumer: e Jed 17620
Frog e D Lion 2 C Snake - B Wolf L & v/ A

The smallest level in ecolog|

ical organization is:

ot e ..‘/u.‘.’u?-}’bﬁf‘}f%),g
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Ecosystem f")f! D Community 6;3/ C Species Z: vV B Population ﬂgg A
Inter relationship between organisms and .
environment is called: e bl P Pl £ Jolalusi sl
Morphology G.#7.4 D Ecology Gs% v/ c Physiology &4\ # B Mycology §.J¢:. A
All the ecosystems in the world together form the: (b SS gp §A "-{'raﬁlj’
Habitat ey D| Community CC'JV C Biosphere //':E/):/E B Population ﬂ;g A
Biotic component of an ecosystem is: PR 't
Plant < sy v/ D Air 15 C Water dy B Light o2y A
Which one is not biotic factor? ?‘au.‘.? 4 SA U
Bacteria | 2& D Soil ¢ c Animals st B Plants « ¢ A
An abiotic component of an ecosystem is: e BB i
Light sy D | Decomposer /J,{o’}’ C Consumer /g/ B Producer s A
Which of the following is the abiotic part of the
ecosystem? ?‘LM’J{{E&'K(L/ Ayl et
Soil ¢* D Lion / c Goat §.£ B Grass U A
For all the living things the source of materials is: c‘-.gu}(}. /f:ééuuulgu,cjrﬁ
Sea sx- D Air 15 C Earth o’ B Sun . vV A
Primary source of energy for all ecosystem is: e 23S EENL L kil
Nutrients o~-2x D Fire /7 C Sun .y vV B Electricity =29 A
Basic source of energy for an ecosystem is: c‘-,:’lid:lﬂdi’,iﬁﬁ’ ’g'uf/
Water &g D Sun & C Animals .5k B Plants .y v/ A
Charles Elton developed the concept of ecological .
pyramids in: :gu%,ﬂ(;;l/’g‘ﬂe),ﬁg,wg’,k
1927 v D 1926 C 1925 B 1924 A
Naturally found graphite and diamond is: e te S bl g b3
Hydrogen ¢s.%} D Oxygen = 1 C Carbon 6 v/ B Nitrogen /s #t A
The basic trophic level for all food chains is: e b L BIISNGE
Reducers J 4. D | Decomposers m{d;" C Consumers /g)”/ B Producers 35, ¢/ A

Conversion of nitrates into nitrogen gas is called:

e W x LI IOTL
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Nitrogen fixation
Ammonification

SR D Seaary C

Assimilation M!

De nitrification

FE s v A

Formation of nitrites and nitrates from ammonia is
called:

OSSP F ol 1 Fr e

De nitrification

Assimilation === | D «f:@/"’bdf (o

Ammonification ,ﬁ"g:m

Nitrification ‘ﬁg/"-’t v | A

The total amount of living matter in an ecosystem at
any time is called:

:‘a(}wfjlﬁJ(Jg_)LuIJui'("/:glo/ui'd'Ju’Goj

Biomass UlsL v/ D Energy G/ c Food chain %37 B Food web —s59 A
Big size mammals which eat honey are: LM 2 LA s,
Elephant u‘"’g D Badger # v/ C Camel & B Rabbit 57 A
All carnivores animals are: :ungJ(g)w&;K(l?
Pathogen ¥ et D Predator 21z ¢/ C Host &~ B Parasite A1z A
The pH of acid rain is: : dnpHSJ A2
45022 D 44991 v C 44961 B 44929 A
About 250 years ago, the population of the world was .
approximately ........ millions: A I L $n Tl ds 2508 7
700 D 600 v C 500 B 400 A
The non renewable resources are: :u}Jllf54xf~ Jot
Soil ¢ D Water &g C Air 15 B | Fossilfuels 2 J)?v | A
Materials which can again be reused are: :ugLM ‘uj‘iluwuyuuiﬁi/‘f
Al e v D Paper i¢ c Glass .2+ B Plastic &1 A

Which form of nitrogen is taken by the producers of
the ecosystem?

AR PRI NN SPT Vg 1

Nitrates *#t ¢ | D Nitrites U~17t c

Ammonia ¢+

B

Nitrogen gas ufu’u/"’u A

In Scotland, in 1997, what an embryologist lan Wilnut
produced from the body cell of an adult sheep?

Ve Bl LB L sdyonTedy ALt 1997 ek

ot

Buffalo U D Cow 2 ¢ C Goat §£ B | Sheep (Dolly) (5 v | A
The pain killing chemical formed in brain is: :‘L(J'{.'{L/“)ul]b&u:bb
Beta endorphin
uj/;}i'lti; (4 D Thymosin g A C Interferon w,}j-‘! B Insulin u’f#' A
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The human genome project started in: s felea kst Lo
1993 D 1992 C 1991 B 1990 v A
The complete map of human genome was published )
in: :L[L;@lﬁﬁd’(r#&uw
2003 D 2002 v c 2001 B 2000 A
The work of genetic engineering was started in: :m;tzl’KrKL -f?f s
1955 D 1954 c 1944 v B 1943 A

Human insulin was firstly prepared through bacteria:

f&g!;é;,wguéy}éu:’ﬂdw

2002 D 1990 C

1978 v B

1970 A

Which organism is used in fermentation for the
preparation of glycerol?

e (T ST S LS s

Saccharomyces
Aspergillus u‘f-{”l D Spirogyra I/l /L C géh;/? v B Bacillus g/:‘i?u*’uf A
In glycolysis glucose molecule breaks into two
molecules of: :‘aw.d;;?L»L ......... Sl fufyfuf ¥
Pyruvic acid Lactic acid
Acetic acid 4a_E= | p LAV C NP ZINC B Formic acid 42l A
Used in the production of vinegar and beverages: i b SIS if sl S
Eclyric acid 44-££ | p Glycerol Js ~1¥ c Ethanol Js&x ¢/ B Formic acid i<tk A
The source of lactic acid is most of the: :éoﬁugg/}w“’f; /’Ml.@?
Protozoans 7siss, D Bacteria | 2& ¢/ C Algae ét B Fungi d¢ A

In biotechnology, the production of a product by the
mass culture of microorganism is called:

e b bt K%;{;{;}.L]%ﬁ/?wﬁ&)b?;ﬂ

Fertilization %% | D Fermenter #/ c Mutation u’f);‘ B | Fermentation J’f'/ v | A
The industrial product produced from asperginus is: :+¢«@4(5” il b U™ £
Oxalic acid ~_0/7T | D Glycerol Js 4 C Ethanol Jsx B | Formic acid it 6v/ A

Microorganisms used in the production of formic acid
is:

L IS A SEAL 20T B s

Streptococcus Saccharomyces
Bacillus & ™ D e b C el kK B | Aspergillus /¢ A
The main source of all types of fermentation is: BT SSUS g
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Micro organisms

Chromosomes »»+:./ | D ;}@T,/?’L v C Alleles ~ B Genes A
Which of these is an anti viral protein? v+J,4d/«,@145 O e
Interferon us 2 £1 v/ D Insulin o2 C Thymosin 3 B Urokinase ff/m/g A
E- coli bacterium was made in: :!n:)gné,:é Jufdl
1970 A.D D 1977 AD v c 1975 A.D B 1980 A.D A
......... is an anti viral protein: eenenenn P g A o1 L
Insulin dff'l D Thymosin o » C Interferon ws 2 21 ¢/ B Urokinase 7":?}/5 A

The hormone which may prove effective against brain

and lung cancer is:

:‘LCCM/{)" JIJPL/{L U}z.'?;u'bbﬁur/!,u

Thyroxin J@Ju?

Insulin g2+

Thymosin v»¥ ¢ | D C Ligases 7y B A
The enzyme which is used to cut the gene of interest
is: e WU iind L2 6L o2 Lk
Endonuclease #x:%!
Lipase D Amylase 2&! C Ligase / du B v A
The enzyme used to dissolve blood clots is: :‘a(’mm,u;f u,}?,‘é Bl 4
Thymosin Jr”u? D Lipase /':730 C Insulin u‘f;ﬂ'i B Urokinases /f?mj A
The treatment through genes is called: :c‘-b'uf b ewd L =
Physiotherapy /%1 | D | Radiotherapy ¢/##4, | C | Chemotherapy i+ | B | Genetherapy ¢ % v | A
The foot and mouth disease in cattle, goats and deer
is: (e g S p Ut Uy
None ¥ 34" D Fungal J/) C Viral J/s v/ B Bacterial f 2 A
The organisms whose genetic set up has been
changed are called: :q;Z_M,n&’J&;;‘ﬂ.;iq.éﬁ.éu’umgél
Re arranged 15, D | Transformed it | C GMO v B Hybrid 3 4| A
The enzymes which are used to join genes are: e b1l L3 ind E 2
Endonucleons /'.Jugxi)iw;l
v D Amylase ZJu c Ligase #(y B Lipase 7du A
Human insulin gene was transferred into: =£fl:(yuf@?’b’uul
Algae U ! D Virus J4u s C Bacteria Ui 2% v/ B Yeast U4 e, A
Insulin is used by patients of: gl S, L sl
http://www.pakquess.com Sir Abbas Gagra Contact # 0303 9300943 Page 29



http://www.pakguess.com/

Class 10t Guess
http:/www.pakqguess.com Annual 2025
Diabetes ;j‘.ys’ v D AIDS Jif C Cancer/f B Hepatics u”gj A

Bacterium (E-coli) which prepares human growth .
hormone was synthesized in: Wikee b oy 4 LU Suliz (o dné 25
1980 D 1910 C 1970 B 1977 v A
Interferon are ......... proteins: -u.fy':"’4 --------- w/l/-"
Anti drugs )@"C&! D Antifungal J{/)ui! Cc Antiviral J/u[;i! v B Antibacterial J"/:"/Eu’% A
The big source of energy for all ecosystem of the .
world is: (e il e MEHNL LA ).flrv"éy;
Moon 4 D Fire J7 C Sun ¢.» v B Bulb 4 A
Single cell protein can be obtained from: cdn Lk S
Insect « usz D Cow =2 ¢ c Algae r.&! v B Bird — usiy A
50 kg of yeast produces protein in 24 hours: ‘-"at'/l,guf}aff o u}“f 24&:.('/@"{50
250 tons v/ D 200 tons C 150 tons B 100 tons A
The algae produced in pond are producing ......... per .
acre proteins annually: :ugLﬁégﬂﬂdj-:‘%;uwfléél&ut,uv
40 tons 40 D 30 tons 30 c 20 tons 20 & v/ B 10 tons 10 ¢ A
The drugs which do not occur naturally but are . . . .
synthesized in laboratory are called: M w Qe S uﬁdf'll:;’d? dlgéguf’ QB R sl
Artificial drugs
Synthetic drugs
SR D S 555 c| Antiseptic S5 | B| Antibiotics SFAG | A
Streptomycin drug is obtained from: iﬁ-&gt; St JU:,:/
Plants < ussy D| Bactera=l2:v |C Animals < sk B Fungi < J¢ A
The drugs which are used to reduce pain include: Qe SUBIL L S s 22 asles
Sedatives Jx.i~ D | Analgesics u'(f'd"! v | C Vaccines j—ff; B Antibiotics w@’g&i! A
The pain reliever morphine is made from: :‘Lélﬂjl‘adézl.%u
Hashish J&* D Marijuana t12¢ « C Opium s ¢/ B Heroin /s A
The drug derives from minerals is: :ugf Bl n ot/
Tincture iodine ff
LIV D Antitoxins /T‘ji! C Aspirin ¢/ = B Morphine gf/h A
The drugs which reduce the possibility of infections ) o
on skin are called: e 0P :.Wéu’? I gale 235l
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Antiseptics U5
("4 C

Vaccines )’(»(,

D

Sedatives J# 4~

Antibiotics (- ¢ G

Which scientist promoted the idea of sterile surgery
for the first time?

Wld L7, I S Sy

Joseph Lester
Alexander Flemming
Alkundi $.471 D Moz v Cc Al-Bairuni s 2! B Gk B A
Penicillin was discovered by: ST oy
Robert Hook
Alexander Fleming
SO IRV D POy C Darwin & us.h B Lamark & Sy A
Drugs (medicine) derived from minerals: RO T A S el
Tincture iodine /f
qﬁff v D Antitoxins /Tu:! C Aspirin ¢/ = B Morphine Uf/L A
Study of composition and medical applications of
drugs is called: 1t S S Lot F sest St
Pharmacology G451t
Physiology G.s¢L D v C | Biotechnology S/ | B Mycology sl A
The drugs produced by pharmaceutical companies is: :+$5o;LgJ u’.':‘/ J? =L
Antitoxins //Lu’“l D Aspirin ¢/ = C lodine /¥ TV B Opium ys! A
Sir Alexander Fleming was awarded the Nobel prize
in: :l{g;/m},)f.f:"/:«ay?l/
1960 D 1950 C 1945 v B 1940 A
Medicines which induce sedation by reducing .
irritability and excitement are called: Ut O s S S g 1t G5
Antibiotics
Vaccines ;’—ff; D Sedatives Jzi ¢/ C ufg’gé%l B Analgesics u—é'idf! A
It kills microorganisms present on the nonliving .
things: AL A Py (e
Disinfectants u”f“w IJ5
Antibiotics ¥/ ¢ | D | Antiseptics AH | ¢ Antibodies it B v A
The cardiotonic known as digitalis is obtained from a . , )
plant:q ‘Ld)ﬂjllré— ......... a;gugu{’&ﬁ‘l»db‘é.;uff s
Fox glove )ﬂ/}‘ 4 D Memosa b+ (¢ C Brassica Uy - B Acacia f A

Which of these addictive drugs are also used as
painkillers?

st dn Jei g Lwdl.‘agnuﬁﬁ &S
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Hallucinogens

All can be used (V7 D Ik C Sedatives Jzi~ B Narcotics o4/t v/ A
The drugs which affect sympathetic nervous system . . N
are called: A Ugdmwﬁqﬁ’ UK EXIW)
Hallucinogens =2 s« s
Antibiotics u*{,fg&':! D v C Sedatives Jzi~ B Narcotics u'@//t A
Mescaline is obtained from a plant: ‘-’93}?&)’ bcc»‘,‘f A
Brassica ... D Maize & c Cactus f‘gv B Opium s A
Psilocin is obtained from: ?‘L&MJ‘bLG){JKJ)&‘,V
Mushroom p/‘“‘ v D Bacteria g/{«?. C Funaria ,/3,3 B Algae u%’ A
This group includes mescaline and psilocin: x?ug&ndwﬂx’vmu:‘twf,,f‘f
Hallucinogens
Vaccines }../f: D 2GRV C Narcotics </t B Sedatives J# 4~ A
This drug is obtained from plants: :+8nd’bcu,;g.ﬁ5,
Tetracycline w(f/w/ij D | Sulphadrugs e C | Cephalosporin ¢4 | B Codeine qi/ v A
Which drug is obtained from plants? ?ﬁ-&gd/ g b Unging o
Cephalosporin
Opium sl ¢/ D o C Penicillin o+ B Aspirin ¢/ £ A
It is a hallucinogen: re S ok
Codeine q;"/ D Morphine uf'/L C Aspirin ¢/ = B Marijuana t12J = v/ A
The drugs used to reduce pain are known as: S O ealdh S Fon
Antiseptics
Sedatives J# 4 D | Antibiotics /F /G | © S G B| Analgesics S v | A
The drugs that kills or retards the growth of bacteria . .
are called: (gt AW s Frl gt AL L 2E 2L sste
Antinarcotics oyt | D Optibodies it (& # C Analgesic ﬂd’ﬂ! B | Antibiotics J@;’g&i! vV | A
Antibiotics inhibit or kill the: gz A gt A
Yeast &z, D Bacteria | 25 ¢/ C Viruses /s B Worms 7. A

Edward Jenner introduced vaccine of which disease?

?‘jb/;.j/l;‘df‘g}éédlkf ‘f/é_/'-f.b}é'
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Malaria 2 D| Hepatitis /“tls | C AIDS™ ! B| Smallpox3Je v | A
Which one of the following disease is cured by
vaccines? ‘-“cblglfcui’“(}wi(dﬂzuf Y
Malaria g/:L D | Smallpox ufgdv v | C Canoer/'*f B AIDS Jif A

The materials that was weakened pathogens:

Q?“%:L;/f/;;’{?i)’.ﬁ’u

Quinine ¢y D Vaccine 'Kf; v C

Analgesic S B| Antibiotics o 7L G A

The pain killer are called:

HY 4 (&

Vaccines ',;/»{} D Analgesics chd’l C Sedatives jzi ¢ B Antibiotics u’@’g&i! A
Expired drugs cause damage to: i 0 o =i £ U e
Stomach 5o D| Kidneyss— v |C Lungs 5 Usss? B Heart s A

i e Gl gy

Q1.  Write short answers of the following
questions.

S F ez Ly S5 ie

1.Define cellular respiration. Y NS
2.How does gaseous exchange in plants take place? St 4 g }Ww,fu:u” g 2
3.What are stomata? Write their function. G tSlet 3
4.What are lenticels? What is their function? S rWumWf&':’ 4
5.How will you differentiate between a stoma and lenticels? LSS AL St LT 5
6.Differentiate between breathing and respiration. WIAI ZH o S 4&/ 6
7.Describe aerobic respiration. Py T
8.What is the function of hairs and mucous in a nasal cavity? e (S NG AR 8
9.Differentiate between nasal cavity and nostrils. S DAL AR 9
10.Differentiate between a glottis and an epiglottis. WIN) ui"ﬂﬂgwlujlf 10
[II11111112.How sound is produced in larynx? Q‘LG”I&JJ,’TU:JFA 1
13.What is trachea? How does cartilage in its walls keep it from Ll d SIS E Sz S S UIe ‘Gg&gj 12

collapsing?

14.What are alveoli? Write their function.

e Bogh 13

15.What are pleural membranes? Write down their function.

e A ik 14

16.Define oxygenated blood.

IS 15

17 What is the difference between inhalation and exhalation?

A P P
v‘gu/gufg‘ﬁ’; L =1 16

18.Differentiate between bronchi and bronchioles.

-Q.’/J/.uf))f;/,ul(jgu, A7

19.What is emphysema? Give its symptoms.

St dl 18

20.What is Pneumonia? Differentiate between single and double
pneumonia.

-U:/J; d:g);(}fﬂl‘ﬁ’?‘gk@}; A9

21.Define asthma and give its reasons.

_Q‘fugakﬁ}g{u’l?‘ggﬁu .20
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22.Write down the common symptoms of lung cancer. - /ul;.:—Wer AL s 2% 21
23.What is passive smoking? How it is harmful? e mull, Y WV bt 22
24 What is nicotine? What are its harmful effects? S S L 18 +&fuff 23
25.How smoking affects teeth? ¢ “3 I AT LuEn b 24
26.Define homeostasis. Give two examples. E S g S w S en 25
21 What is the difference between osmoregulation and ¢ ;&r‘ﬂu‘é’ Lo ;J,,u‘—‘:’ Loy 26
thermoregulation? ‘

28.How homeostasis of CO,andO; takes place in plants? e dnl s a0, 4 COp bumy 27
29.Differentiate between turgidity and guttation. ‘ ] U/ ;u:d"z:’t,,é ;?; 28
30.What is the difference between resins and gums? S ON U mirs 29
31 .DiﬁT;re:ntiate between hydrophytes and xerophytes. Give one et G Sl n iz, 30
g)Z(éBneF;iné halophytes with an example. e LS PSS ik 31
33.Define osmosis. S U 32
34 What is the difference between latex and mucilage? te ;&ru:@kw,,u@ 33
?u5ri(c:)tili)rnzlf?in consists of how many layers? What are their s /_ﬁ LoSutdntf Fdesia 34
36.How skin keeps our body cool? te J,yé’[f?.&,w', 35
37.What is the shape, size and weight of kidney? ¢ ‘nguju,,;‘ﬂy‘;&, S 36
38.What are the important parts of nephron? s r'—ufufﬁf" Lusp 37
39.What is a renal corpuscle? Write the names of its two _ugV Al o AL Use S HS, 38
important parts.

40.Differentiate between renal corpuscle and renal tubule. SISt S 39
41 Differentiate between renal cortex and renal medulla. SR s S K 40
42.\What is pressure filtration? e L eF Ay 4 A1
43.What is glumerular filtrate? e lfec A, ﬁ.,s’ 42
44 What is meant by selective re absorption? How it occurs? ¢ ‘Lg s &8 el P e P ,:‘.él/ 43
45.Differentiate between pressure filtration and tubular secretion. SSGPAR Kt mcP Py 4 44
46.Differentiate between hilus and pelvis. LSk 45
47 \Write down any two major causes of kidney stones. S ek 2 ("’»Jd b s)S 46
48.What are the symptoms of kidney stones? S e §S A s S AT
49 What is lithotripsy? e (@1 48
50.Write contributions of Abu-al-Qasim Al-Zahravi in biology. NSRS (’w"’f"ﬂ&”’ﬂ 49
52.What is meant by dialysis? Write the names of its methods.’ _U:er LuBpLuies e s 50
53.What is kidney transplant? Sesl Pl e it 204 51
54 Which problems may arise after kidney transplant? stE e Al eI 52
55.What is meant by tissuery junction?’ Sl e fB6# 53
56.Define coordination and write down its types. -ugV rlf"&f'ﬂ’-t[ S fSr54TS 54
57 Define stimulus. Give any two examples. 'wugc,”u,‘j;g%&(dfb 55
58.What is meant by coordinator? Give their examples. _q,ugmf,g el e sty 56
59.What are effectors? Explain with examples. S el bt I 5T
60.Define response. Give one example. e ‘Ll/u"'z;:'/ 58
61 .Differgntiqte between nervous coordination and chemical NIA) RS TS SE S4B
gg(.)\/r\(ljrlwr;\?tils(,J 21. neuron? Write the names of its two parts. _J;J AL urnl St unt 60
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63.Differentiate between dendrites and axons.

LSOt ks B
64.Describe the function of dendrites and axons. LK Lo uks 62
65.What are the types of neurons according to their functions? St F v sl Le¥ 63
66.What7is the difference between sensory neurons and motor S O LL IS, 64
g‘;%(i)frf]:réntiate between sensory and motor nerves. IR
69.What is a hypothalamus? Give its function. e kb1 ‘a&(u‘i'l/ 4 66
70.What is midbrain and its functions? Where is it located? AT, S RSt 6T
71.What is spinal cord? Write its functions. e §_ij.; L .68
72.What is somatic nervous system? Sl Uiy 69
73.What is autonomic nervous system? Sl P IN T0
74 What is the function of sympathetic and parasympathetic e e P~
nervous system?
75 Differentiate between voluntary and involuntary actions. SSRGS i F T2
76.Differentiate between reflex action and reflex arc. NIAIR: ST O, T3
78 Differentiate between sensory nerves and motor nerves. SIS st mniS e T4
79 Differentiate between central and peripheral nervous system. GINDPAF Uil e T5
80.What are receptors? Give their examples. PSR T6
81.Differentiate between agueous humour and vitreous humour. SIS E LN S ITP 30 Dol wiE 17
Give their functions.
82.Write two disorders of eye. LSl £T 18
83 Differentiate between Myopia and Hypermetropia. SIS E el 79
84.\{}123’; ishypermetropia and its causes? How it can be te Pl med Y1y ek zs$urta o Fy 80
gﬂlow ears maintain the balance of body? S AL USS K B
86.Why Ali-lon Isa is famous for? 9/&”/”9“&&:&/&4&,&: 82
87.Write function of oxytocin hormone. -vawigguflhfjﬁ 83
88.Differentiate between hypothyroidism and hyperthyroidism. S GAS L 1106 £ o e, 84
89.Write the function of parathyroid gland. Sk rggﬂjﬂjégl s .85
91.Write down the functions of insulin and glucagon hormone. " /uwzﬁ' VAL SEE s 86
92.What is meant by feedback mechanism? How the secretion of PRIRIS I IPA( LSuris e o i 8T
hormone is regulated?
93 Differentiate between negative feedback and positive TSP ALi Ly 88
feedback. . - :
94.Write the causes and symptoms of paralysis. S e St 89
95.What is meant by goiter? Ce s e 190
97 Differentiate between cartilage and bones. JIMTIRS f:u'g/b’ 91
98.What is meant by movement? Describe its types. YIS e iy 92
?OQQx\ék;at are the types of a cartilage? In which organs they are Lt SN S l""”de’K 93
100.What is an elastc cartilage and where is it located? Give two Lo Aendue oLl S %Lfd")ﬁ Ll 94
%?gﬂﬁ:.elastic and fibrous cartilage. SIS PSE K b 95
102.Write down the interrelation ship between estrogen and ¢ 9&”7&(‘}50’ SRR 96
t1)8;’:.eIZ?i.fferentiate between chondrocytes and osteocytes. LGP E S A ik 9T
1Q4.Define joints. Write the types of joints. Write their names and _wugm, ct Lu‘_u:dj r*ﬁ'u{w‘ 2y P Sin 98
give examples.
105.Differentiate between hinge and ball and socket joints. SIS me i1 99
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106.Differentiate between tendons and ligaments.

NI )

107.Where fixed joints are located?

st 1228 101

108.What is meant by a flexor muscle and flexion?

?“J,/L,{Lﬁ”,}//g; 102

109.What is meant by an extensor muscle and extension?

?‘g;l/gcu%l»lyﬂ%l 103

110.Define flexor and extensor.

SIS A 04

111.Differentiate between biceps and triceps.

LA Bt L 105

112.Differentiate between antagonists and antagonism.

LSO et 106

113.Differentiate between flexion and extension.

?‘gu“/.‘lf‘ﬂu%lﬂlu’? 07

114.What is the difference between origin and insertion?

?90}&&}30’/1/}1&1)' 108

115.What is osteoporosis? Give its symptoms and causes.

-u..‘J :;Qﬁuﬂallk&j l?c‘-y/u/ u{z‘“’:l 109

116.What is arthritis? Give its symptoms and treatment.

_u:""z,w/,latmfgu?‘ggfu #7110

118.What is gout? Write its symptoms and causes.

-u.‘.’gakﬁ;ulatﬂﬂfdl?‘agb‘«f( A1

119.Define reproduction. Give its importance.

LS pedib g S P S b ps M2

120.Differentiate between sexual and asexual reproduction.

LSt b E S 13

121.How does binary fission take place in unicellular eukaryotes?

S bt AU A WAS 1 1y 114

123.What is budding? Give examples of organisms which
reproduce asexually by budding?

Sk e 3 p L Brrgs e Susente £y 115
2 uﬁf;’ G

124 What is the difference between spores and sporangia?

?‘LJ}‘({(J.L:'{.».‘,’AIJJ}:;’ 116

125.How budding occurs in invertebrates? Give example.

Bl fn P AR L T

126.What is binary fission? How do bacteria reproduce asexually
by binary fission?

P g K IS L BLP U 2SS M8
sl

127 What is meant by vegetative propagation in plants?

9‘4;;/gf.'-_u"~‘£%4%ufu»g 19

128.What are bulbs? How plants reproduce vegetatively by
bulbs?

LS gt 120

129.What are corms? How they help in reproduction?

KNG LPIRN N PP

130.How plants reproduce by suckers? Give example.

%[}’L/f'(;‘y’:./b)‘/fgg 2 Lif 122

131.How plants propagate vegetatively by grafting? Give
example.

S LSS S S g BPL S 123

132.What is the difference between cutting and grafting?

eGP UEE S B 124

133.What are the disadvantages of vegetative reproduction?

I L P 2 125

134.Define cloning and tissue culture.

S EEE B 126

135.Differentiate between binary fission and fragmentation.

S GNP $A A2

136.Differentiate between sporophyte generation and
gametophyte generation.

S A 283 oz i 128

137.What is meant by alternation of generation in plants?

Sl /y/a.u?' A quﬁf ﬂfu.‘.'u»g 129

138.What is meant by sporophyte generation?

?‘g;l/.l,fé—u?/‘?n.‘,g’lb/)f 130

139.Define self pollination and cross pollination.

S S b S gk 131

140.What is double fertilization?

e RIS 132

142 What is a seed coat? Write its functions.

LSS 133

145.What is epigeal germination? Give its examples.

AU VT S g 134

146.Differentiate between epigeal germination and hypogeal
germination.

e AT 2SI AT 2o 135

147 What is fertilization? And write its types.

AE S A 136

148 .Differentiate between internal and external fertilization.

LSIPAFIIS S pr A3

150.Define follicles. What is present inside it?

e bl L gEy JS A 138
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152.Differentiate between epicotyl and hypocotyl. LSS AS I Jlgf(é' 139
154.What is meant by gametogenesis? Sl p e e 140
156.What is semen? And write its composition? SR J,;{JJ, ESe S AM
157 Differentiate between prostate glands and cowper’s glands. WIAIR3S 36l sty 4 142
161.Define Genotype and phenotype. e JE A fse 143
162.What do you mean by homozygous and heterozygous? S /g‘,_u.?,j, /gql,,u.?,),.,, 144
164.Differentiate between genes and loci. SRSz 145
165.Define transcriptions. SIS FER £ 146
166.What are homozygous and heterozygous genotypes? L u.?’,j, /gql,,u.?,),.,, 147
167 Differentiate between transcription and translation. e /'l./ui’u":u' sl ol L2 148
168.Define genotype and phenotype. S A s 149
169.Define genes and alleles. S SRz 150
170.Write any two main points of Watson Crick model of DNA. -J,/uy.:—ﬁf‘l»:-éfcﬁdﬂd:uw65£J/u‘jb 151
171 Differentiate between Artificially and naturally selection. S AT 5 tat G § 7 152
172.W2at is the difference between dominant and recessive ST S M R s 153
?géﬁhat do you know about Gregor Mendel? Ul Tt AL S £/ 154
175.What is @ monohybrid cross? PRIy S\ dy 155
176.What is Mendel’s law of segregation? - /u,k./.nf’:[" B T8k 156
177 What is a dihybrid cross? e 1S 2\ 157
178.What is Mendel's law of independent assortment? S st i ST e 158
179.What is meant by true breeding? Sesl e Lt 159
180.What are dominance and ressalas? St sl K sy 160
181.What is co dominance? Give examples. s e e 161
182.What is incomplete dominance? Explain with examples. S ol U o /lfc‘f"}:;ﬁd’[t 162
183._Differentiate between co dominance and incomplete LSRN J[L’m Joesd 163
?gzmg&m characteristics of discontinuous variations. S bor /:JJJ-" 4 164
185.Define continuous variations with examples. oy ,ugc.,,,,u Sy Pl AJJJ/' 165
186.What is theory of special creations? ¢ al[d/,é?JJ:‘? & 166
187.Djfferentiate between natural selection and artificial ¢ ‘Lo}g‘ﬂﬁg‘;wﬂ,& 5 167
?glg.(\:/tllzg;[ is the difference between breeds and cultivars? e G il s 168
190.Differentiate between carnivores and herbivores LGS 3K 169
191.What is meant by decomposition? Give an example. Lt e };‘/65 170
192.Write down the biotic and abiotic factors of ecosystem. Iy RPN L(‘—-/,g, 171
193.Differentiate between ecosystem and biosphere. SISl rw,g, 172
194.Define food chain and food web. S S Bsd AT3
195.Whatis a trophjc level? Write the names of different trophic -ui"arbéﬂ,é»_ﬁ/‘ﬁéu:ﬁ}?‘agdﬁuﬁi 174
levels of a food chain.

196.What is meant by nitrogen fixation? S /k(é_‘,}:}uz, Ft AT5
198.What is assimilation? Sesl P e 1 AT6
199.What is meant by de nitrification? e e J’“’ed Suss ATT
200.What is a food web? Sesl e ccdd T8
201.What is meant by an ecological pyramid? Sesl P i ;'&‘}%}J‘[’ 179
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202.Define a food chain. Give one example. e Ly Sy S S8 180
203.What is meant by pyramid biomass? S e ULELAIZ, 181
204 Define predation with an example. LISl e g 182
205.Djﬁ§rentiat§ between intra specific interaction and inter S AV I /.,o,”,dﬁf, £IE1 £ 183
specific interaction. ‘
206.Define symbiosis. Write the names of its types. N AL Uinduiy /e P U s 184
207.What is parasitism? Give some examples of parasites. _wugr;, slUF s WA, 185
208.Differentiate between ectoparasites and endoparasited. Give LS a TS gt i pth 186
their examples. - )
209.What is mutualism? Give its one example. P Lis et p e pien 8T
210.What is commensalism? Give one example. -q:db~99+:v/yfar}fwf 188
211 Differentiate between mutualism and commensalism. e SIS L dest 189
212.Define global warming. I PELnmE 190
213.What do you mean by deforestation? S /&(,_uz,,-‘«w@ 5 191
214.What are the effects of deforestation? e L P s 192
216.What are the harmful effects of acid rain? eSS LAY 193
217.What is meant by ozone depletion? S /L/Lu‘r:t St 194
218.What is utrophication? S e 00y 195
219.How is smog formed? Write its two disadvantages. et L ste FL S 196
220.Differentiate between renewable and nonrenewable SIS tB s aiE S E SE 9T
r262830_l|;J)r<§:§r.ibe the scope and importance of biotechnology. nyny M,JJ,”,?,C{&,J@? #1198
224 Write down the role of biotechnology in the field of TSN IEIL A S S LI 199
environment. - -
225.What is alcoholic fermentation? S e 5l 200
226.What is lactic acid fermentation? Give its importance. Y B P /L,ré_t}!' 30 60 201
227 Define glycolysis. What are the products of glycolysis? el L LAVEE S A8 202
230.What do you know about batch fermentation? te il /L,ré_‘,“/f' AL 203
231.Write two advantages of fermenters. T s xp 204
232.Explain the role of Pasteur in the field of fermentation. te /K G Zu"f '3 205
233.Define fermentation with reference to biotechnology. g /TJU"{“ e d 19 L G, 206
234 Define alcoholic fermentation. Ny /‘;'Ju"é" i@ 207
235.What is genetic engineering? S g 208
236.What is genetic engineering/recombinant DNA technology? Sl Pl Nyl B AL e IS 209
237 Write any two characteristics of transgenic animals. S Sahor® 5§l _;:,), 2 210
238.What are the objectives of genetic engineering? IS e LB 211
241.What are transgenic organisms? WA _q/, 4 212
242 Enlist the achievements of genetic engineering. SN\ KE £ e 213
243 What is thymosin and write its function? I S e 214
245 What is urokinase? What is its use and how it is obtained? e Qe b g S 7y 215
246.What is vector in genetic engineering? g‘éj,/gé_;g,u:‘_g;j,_@: 216
247 What is meant by gene therapy? S e i Bt 217
250.Wr;at is single cell protein? Why it is called single cell (:‘Lt.l?‘é’u{c}f,{‘dz’ﬁ,ﬂ,g‘éﬂ/&f"uf,lgdz"ﬁv 218
gg(;t.e\)/l\rl]ﬁat is thymosin hormone? Write its function also. _ufg‘ffrwu,g el ey b A3, 219
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253.Describe the importance of single cell protein.

NN

220

254 What is meant by pharmaceutical drug/medicinal drug? Se s e ek @L 3 frb 221
255.What is meant by drug? Write names of its two types. e AL SIS e Ss 222
258.What drugs are obtained from animals? st S oS b eunde 223
253.3\géigh drugs are obtained from minerals? Give their names -u-‘.’grt'ﬁui?wé'—m)‘b}'if:-uf:-)/ 224
ggZ.Writé a note on the work of Joseph Lister. I LKEP Sz 225
263.Differentiate between antibiotics and disinfectants. _Ed )uiu’w 1A A 226
265.What are antibiotics? Give their examples. _wugg,uru,gc‘_),/g‘,_wfﬂ@, 297
267 Differentiate between disinfectants and antiseptics. NI /’u’:uﬁf@mluﬁg I3 228
268.What are addictive drugs? Give their examples. eSS el T S 229
269.What is marijuana? What is its source? g LUt Wtizg 2 230
270.Write some problems of drug addiction. Sl aiisT s 231
271.What is meant by social stigma? fel e . 232
273.V\!>hat is marijuana? For which group it is related to addictive te e s SIS L ol S5 e bz, 233
g%éiﬁerentiate between narcotics and hallucinogens. Sodpt ik 234
275.What is vaccine? Name two vaccines being used. _ugV ot Lj-./f;du L1t /L/Ldf!, 235
276.What is the difference between analgesics and sedatives? S G Uik é./ulu‘cﬁgf‘l 236
27;5?;1;fggentiate between broad spectrum and narrow spectrum e GV UEUT A ', S il ¢ Y, 237
g;?bpi?eréntiate between bactericidal and bacteriostatic e AR A Iy 2Em 25 238
ggé.\ﬁk::?are sulpha drugs/sulfonamides? Sesl Pl it TG 239
281.Differentiate between antiseptics and antibiotics. te ;&ru:‘fe’ ,ﬂ‘g‘.,ﬂ,‘f@g‘_‘f“, 240
282.What is meant by vaccination? f s e FE 28
283.How vaccines are administered? sutd S, 4’%, 242
284 Describe the difference between antigens and antibodies. SPGB 243
il o | G oo b
2 sond JI gw

Write the osmotic adaptations of hydrophytes and xerophytes. e B p bt o oA A
Describe the structure and functions of thyroid gland and I s S e (L)
\3\7&2{?22 the major organs involved in homeostasis in human Gu[u[%fgkz_,}g_jU:W&&Anuﬁﬁéuu,(_’m) 2
body? Describe the roles of each of these organs. _

e SES T
Describe the contribution of Ibne-al-Haytham and Al Ibne-Isa ol /%‘4, e d 1oL fb Lt G 2 1 250 S FT(L)
with knowledge about the structure of eye and treatment of
various ophthalmic diseases. e 5T
Define osmoregulation. Describe the role of kidney in W2 T A A - T I ) B«
osmoregulation. - -
With the help of labeled diagram explain the structure of nephron. eSS b N
Write the names of functions of lobes of cerebrum. And explain. e S B L 2B ) (.
Describe the functioning of kidney. IS L /f“& )
What is neuron? Explain its three types. el it Ut () (5
Write a note of hemodialysis. %ﬁfb PR )
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What is a neuron or a nerve cell? Describe its structure.

eSS U Ao () (6

What are coordinators? Name the coordinators of nervous and
chemical coordination.

LTS St ST oS 3 T(L)

o

3 e

JI gw

What do you mean by a bone? Describe its structure.

_Q’/ug&‘/d/di?baﬂ/y/:.d,@(uﬂl) ¢

What conditions are necessary for the germination of seed?

ST FEn el L 204D

What are the main components of an axial skeleton and
appendicular skeleton of human?

?uj;u}fu/&ﬂiLJ‘%&/;{%!A!W‘}{Z@JQU!(JI) @)

What is meant by tissue culture and cloning? Explain.

‘J"/yU3?L4:l/gcj}g/3|{}ﬁf(y)

What is meant by a joint? Describe different types of joints.

e B G p e sa () 3

What is meant by pollination? Differentiate between self and
cross pollination.

I PATE SISt e p e T ()

Describe the roles of tendons and ligaments in human skeletal
system.

,g/ug/;;/KJb‘éj,ui,‘cfui‘(b‘ﬂ}”rﬁéuu(.ﬂt) 4

Write down the advantages and disadvantages of vegetative
propagation of plants.

I et sl 6L %,4}:":.{3(.,)

What is arthritis? Write down its symptoms and treatment. Also
describe its different types.

e I S St e S8 U UF 1 2 T() (5

5o

Describe two common methods of artificial propagation. JE S enL J&, L5
What is meant by binary fission? How asexual reproduction by S i PR 260 e SO (6

binary fission takes place in bacteria, amoeba and planaria. T .

e 3l AU tf/ﬁ”/;»/

What is meant by vegetative propagation? Describe different 2L u"/:%, 8 e e J:%, ()

ways of natural vegetative propagation. Y i LT o /‘b

-k

4).{..0_3

JI gw

Discuss the biotic components of an ecosystem.

BTSN e S g 10 ) B¢

Write a note on carbon cycle.

i M)

Write a note on nitrogen cycle.

A B @

What is meant by acid rain? Write down the significant effects of
acid rain.

<ufj.:,l/:'|o;UW£J|4JYL?L¢;l/y/agj/l.,dl)j'(y)

Define green house effect. What is global arming? Write its
effects.

ul",._»u/‘lLwS‘LQL[..K‘/I;Jﬁq/_@ﬂf@@uﬁgqﬂ.ﬂ;) @3
Jr

What is water pollution? Describe its effects and control.

_ind} £ /ﬁlaijlijl?bagjij..{/)’iﬁ(y)

Write the important achievements of biotechnology with
reference to medicine, agriculture and environment.

P U KU S GAE F e o L ol esiiain () (4
vl

Describe two basic types of carbohydrate fermentation.

_Q/ugrUId;’Vf:} Jﬂ/qﬁ(w/l{(_‘,)

Describe four groups of food obtained by fermentation.

LS L SuFi s S e A 5

What is a fermenter? Give the detail of two types of fermentation,
carried out in fermenter.

e S e S i ()

Write down the achievements of genetic engineering.

IR 7y (R ) B

What is meant by single-cell protein (SCP)? Write its importance.

S et ST ek Y ey T (L)
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